
  1.00

­ 0.35

  10.00

­   2.50

  30.00

­   6.00

  24.00

­   6.35

First, I take out a ONE

I want to subtract 0.35

I don't have enough TENTHS and I don't 
have enough HUNDREDTHS to easily 
subtract 0.35

So I ungroup a ONE into ten TENTHS

Then, I ungroup a TENTH into ten 
HUNDREDTHS

Now I can easily subtract 0.35, and I am 
left with ...... 0.65

First, I take out three TENS

I want to subtract six ONES

I don't have enough ONES to easily 
subtract six ONES

SO, I ungroup a TEN into ten ONES

Now I can easily subtract 6 ONES and I 
am left with .... 24.00
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